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E/TREQARICEITHAIMATHREAEFR

FRE : B LL2-2
SH3EE
1% B - KR B A MRS L) AR E
5cm 50c¢m 100cm
OIS — 0.06 — PA-1000
@75>aF — 0.07 — PA-1000
2/71(R)EN @FRYy&styn — 0.09 — PA-1000
@a—JzATF — 0.08 — PA-1000
15 0.06 0.08 — PA-1000
DRI — 0.08 — PA-1000
@73>aF — 0.07 — PA-1000
8/19(K)EEN @FRYy&styn — 0.09 — PA-1000
@o—79zA(TF — 0.07 — PA-1000
15 0.05 0.06 — PA-1000
2/14 (BR9)



E/TREQARICEITAIMAREAEHR

e : B L2-2
SH2FE
I BRI BisE A AEIR (270> NIV hEE) 1725 e
5cm 50c¢m 100cm

DIRERIHFT — 0.10 — PA-1000

@75>aTF — 0.08 — PA-1000

12/1CR) BN @FRYyatLyn — 0.08 — PA-1000

@Oo—JHIAT — 0.09 — PA-1000

hi5 0.06 0.08 — PA-1000

DIBERIGAR — 0.08 — PA-1000

@75>aTF — 0.08 — PA-1000

6/1(A)EY @FRY&LYND — 0.10 — PA-1000

@Oo—JIATF — 0.08 — PA-1000

hi5 0.08 0.08 — PA-1000

SERE3 1
B R 545 AR (Y A78 2 —AhEE) B ﬁﬁi%
5cm 50cm 100¢m

DRI — 0.07 — PA-1000

@73>aTF — 0.06 — PA-1000

12/2(A)EY @FRYy&styn — 0.09 — PA-1000

@Oo—THIATF — 0.09 — PA-1000

hi5 0.05 0.07 — PA-1000

DIRERIHFT — 0.07 — PA-1000

@735>aTF — 0.08 — PA-1000

6/3(A) BN @FRYaLYNO — 0.09 — PA-1000

@Oo—THIATF — 0.09 — PA-1000

hi5 0.05 0.07 — PA-1000

3/14 (BR9)



E/TREQARICEITAIMAREAEHR

e : B L2-2
F A 304F B
I BRI BisE A AEIR (270> NIV hEE) 1725 e
5cm 50c¢m 100cm

DIRERIHFT — 0.09 — PA-1000

@75>aTF — 0.08 — PA-1000

12/3(R)EY @FRYyatLyn — 0.11 — PA-1000

@Oo—JHIAT — 0.08 — PA-1000

hi5 0.08 0.08 — PA-1000

DIBERIGAR — 0.07 — PA-1000

@75>aTF — 0.08 — PA-1000

6/1(&)EN @FRYyatyn — 0.10 — PA-1000

@o—79zA(TF — 0.11 — PA-1000

hi5 0.07 0.07 — PA-1000

SRR 294
B R 545 AR (Y A78 2 —AhEE) B ﬁﬁi%
5cm 50cm 100¢m

DRI — 0.08 — PA-1000

@73>aTF — 0.08 — PA-1000

12/1(£)£Y @FRYy&styn — 0.09 — PA-1000

@Oo—THIATF — 0.08 — PA-1000

hi5 0.07 0.07 — PA-1000

DIRERIHFT — 0.10 — PA-1000

@735>aTF — 0.08 — PA-1000

6/1(K)EY @FRYaLYNO — 0.09 — PA-1000

@Oo—THIATF — 0.08 — PA-1000

hi5 0.08 0.08 — PA-1000

4/14 (ER9)



E/TREQARICEITAIMAREAEHR

e : B L2-2
F i 284F B
I BRI BisE A AEIR (270> NIV hEE) 1725 e
5cm 50c¢m 100cm

DIRERIHFT — 0.09 — PA-1000

@75>aTF — 0.10 — PA-1000

12/1(R) BN @FRYyatLyn — 0.14 — PA-1000

@O—THIATF — 0.11 — PA-1000

hi5 0.09 0.09 — PA-1000

DIBERIGAR — 0.09 — PA-1000

@75>aTF — 0.08 — PA-1000

6/1(K) EEh @FRYyatyn — 0.15 — PA-1000

@Oo—JIATF — 0.09 — PA-1000

hi5 0.09 0.10 — PA-1000

FRE2TEEE
B R 545 AR (Y A78 2 —AhEE) B ﬁﬁi%
5cm 50cm 100¢m

DRI — 0.10 — PA-1000

@73>aTF — 0.09 — PA-1000

12/2(K)£Y @FRYy&styn — 0.15 — PA-1000

@Oo—THIATF — 0.10 — PA-1000

hi5 0.07 0.09 — PA-1000

DIRERIHFT — 0.11 — PA-1000

@735>aTF — 0.09 — PA-1000

6/1(A)BEh @FRYaLYNO — 0.18 — PA-1000

@O—7Y9zAF — 0.11 — PA-1000

hi5 0.09 0.09 — PA-1000

5/14 (BR9)



E/TREQARICEITAIMAREAEHR

e : B L2-2
AR 26 4F B
I BRI BisE A AEIR (270> NIV hEE) 1725 e
5cm 50c¢m 100cm
DIBERIHFT — 0.12 — PA-1000
@73>aF — 0.12 — PA-1000
3/3(K)EY @FRYy&styn — 0.18 — PA-1000
@a—JzATF — 0.15 — PA-1000
15 0.09 0.11 — PA-1000
DRI — 0.09 — PA-1000
@75>aTF — 0.10 — PA-1000
12/3(K)EN @FRYyatyn — 0.17 — PA-1000
@O—THIATF — 0.16 — PA-1000
Bbig 0.11 0.12 — PA-1000
ORI — 0.10 — PA-1000
@735>aF — 0.11 — PA-1000
9/3(K)EEN @FRY&LYO — 0.17 — PA-1000
@o—79zA(TF — 0.12 — PA-1000
i 0.08 0.11 — PA-1000
ORI — 0.11 — PA-1000
@75>aF — 0.11 — PA-1000
6.3 () EN @FRYystyn — 0.20 — PA-1000
@O—7J9ATF — 0.12 — PA-1000
5 0.10 0.12 — PA-1000
6/14 (BR9)



E/TREQARICEITAIMATREAEFR

FTEEHE - g IL2-2
TR 254E B
B KR A o 5 N s T AEs s
5cm 50c¢m 100cm
DI IHT — 0.12 — PA-1000
@75>aF — 0.13 — PA-1000
3/4(K) Bh RI~YsEYO — 0.19 — PA-1000
@a—J AT — 0.18 — PA-1000
15 0.10 0.12 — PA-1000
DI IHFT — 0.13 — PA-1000
@75>aF — 0.13 — PA-1000
2/4(k) Y @FRYHLtyn — 0.21 — PA-1000
@O—J9zA(TF — 0.15 — PA-1000
15 0.11 0.13 — PA-1000
DI IHFT — 0.11 — PA-1000
X @75>aF — 0.14 — PA-1000
1 /:Fﬁf?f%h Q@FRYALYNO — 0.20 — PA-1000
@O—7Y9I(TF — 0.18 — PA-1000
15 0.10 0.13 — PA-1000
DI IHFT — 0.10 — PA-1000
@75>aF — 0.14 — PA-1000
12/73(K) Bh R@I Y& EYO — 0.20 — PA-1000
@O—7Y9IA(TF — 0.16 — PA-1000
15 0.12 0.13 — PA-1000
DIRERIHFT — 0.12 — PA-1000
@75>aF — 0.13 — PA-1000
11./60K) Bh ®FI~RYHEYO — 0.21 — PA-1000
@O—7Y9IA(TF — 0.14 — PA-1000
15 0.10 0.13 — PA-1000
7/14 (BR9)



E/TREQARICEITAIMATREAEFR

FTEEHE - g IL2-2
TR 254E B
g == K Q =
B B - X IR I AR (RATOY IR BE) | e e
5cm 50c¢m 100¢cm
DI IHT — 0.12 — PA-1000
@75>aF — 0.14 — PA-1000
1074(%) Y RI~YsEYO — 0.22 — PA-1000
@a—J AT — 0.18 — PA-1000
Rbi5 0.08 0.14 — PA-1000
DI IHFT — 0.12 — PA-1000
@75>aF — 0.13 — PA-1000
@FRYHLtyn — 0.20 — PA-1000
@O—J9zA(TF — 0.18 — PA-1000
9./6(%) £Y w5 0.13 0.16 — PA-1000
AN F — 016 — PA-1000 B RFBIE (REFRIFH D ATFEIEA B S5 FF)

BNF — 015 — PA-1000 ”

ON>F — 014 — PA-1000 ”

ON~F — 014 — PA-1000 ”
DIE LIS AT — 0.12 — PA-1000
@75>aF — 0.12 — PA-1000
8./5(R) Bh RI~RY&EYO — 0.20 — PA-1000
@O—79zA(TF — 0.13 — PA-1000
Fbig 0.13 0.13 — PA-1000
DIRERIHFT — 0.13 — PA-1000
@75>aF — 0.14 — PA-1000
7.30K) £Y @FRYALYynO — 0.20 — PA-1000
@O—JATF — 0.17 — PA-1000
15 0.10 0.12 — PA-1000

8/14 (BR9)



E/TREQARICEITAIMATREAEFR

FTEEHE - g IL2-2
TR 254E B
A== K Q =
B B - X IR I AR (RATOY IR BE) | e e
5¢m 50c¢m 100¢cm
DI IHT — 0.13 — PA-1000
@75>aF — 0.14 — PA-1000
6./4(K) Bh RI~YsEYO — 0. 22 — PA-1000
@o—JHIATF — 0.18 — PA-1000
Rbi5 0.10 0.14 — PA-1000
DI IHFT — 0.13 — PA-1000
@75>aF — 0.15 — PA-1000
5716 (K) En ®@I~RYsHEYO — 0. 22 — PA-1000
@O—J9zA(TF — 0.18 — PA-1000
Fbig 0.10 0.14 — PA-1000
DI IHFT — 0.13 — PA-1000
@75>aF — 0.17 — PA-1000
416 (K) BBh RI~RY&EYO — 0. 21 — PA-1000
@O—79zA(TF — 0. 20 — PA-1000
15 0.13 0.15 —_ PA-1000

9/14
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E/TREQARICEITAIMATREAEFR

FrTEHE - I Ll2-2
F 244 s —=
=g - g == AEIE (X470 —~N)LEF) .
/,EIIIEE 9&1'; /ﬁllmiﬂ,ﬁ\ 5om 50¢m 100¢m /ﬂ“ﬂi%& 1%%
Ot b E (1) — 0. 21 — PA-1000
QFbi5 0. 14 0. 16 — PA-1000
3/4(H) &Y ©OrRa k- A]ui — 0. 24 — PA-1000
@O—J9IATF — 0.16 — PA-1000
®IZaF — 0.14 — PA-1000
Ot L ER (1) — 0. 20 — PA-1000
Q15 0.13 0. 15 — PA-1000
2/4(R) Bh RFRYHLYO — 0. 24 — PA-1000
@O—JHIATF — 0.16 — PA-1000
®IZaF — 0.16 — PA-1000
Ohih DL ER (1) — 0. 16 — PA-1000
o e Qb5 0.17 0. 16 — PA-1000
1 /j(.msz?%h @F~Y&aLyn — 0.15 — PA-1000
@A—J AT — 0. 16 — PA-1000
OrFP=I — 0.18 — PA-1000
O L ER (1) — 0. 21 — PA-1000
Q5 0.14 0.16 — PA-1000
1274(K) £Y @FRY&£LEYO — 0. 23 — PA-1000
@O—JHIATF — 0. 22 — PA-1000
©®IZaF — 0. 16 — PA-1000
DL ER (1) — 0. 22 — PA-1000
Qb5 0.14 0.15 — PA-1000
11.70K) Bh RIRYy&EYO — 0. 24 — PA-1000
@O—J AT — 0. 21 — PA-1000
®JZ>aF — 0.16 — PA-1000
Ot ER (£) — 0. 23 — PA-1000
Qb5 0.13 0. 16 — PA-1000
10.72(:K) BN RFRY&HLYO — 0. 24 — PA-1000
@O—JY9IAF — 0. 21 — PA-1000
®IZaF — 0.16 — PA-1000
11/14 (ER9)



E/TREQARICEITAIMATREAEFR

PrTEHD : B LL2-2
F 244 =
S hA=r == AEE(RA7O0V—N)LEEE) —
/,EIIIEE 9&1'; /ﬁllmiﬂ,ﬁ\ 5om 50¢m 100¢m /ﬂ“ﬂi%& 1%%
Ohih DL ER (1) — 0. 21 — PA-1000
Q15 0. 14 0. 15 — PA-1000
9/4(K) BN ©OrRa k- A]ui — 0. 24 — PA-1000
@O—J9IATF — 0. 20 — PA-1000
®IZaF — 0.16 — PA-1000
Ot L ER (1) — 0. 24 — PA-1000
Q5 0.18 0.17 — PA-1000
8.72(K) BN RFRYHLYO — 0. 24 — PA-1000
@O—J9IATF — 0. 22 — PA-1000
®IZaF — 0.17 — PA-1000
Ohih DL ER (1) — 0. 23 — PA-1000
Qb5 0.15 0.16 — PA-1000
772(K) Bh R@FRY&LYO — 0.2 — PA-1000
@A—J AT — 0. 22 — PA-1000
OrFP=I — 0.17 — PA-1000
O L ER (1) — 0. 24 — PA-1000
Q5 0.17 0.18 — PA-1000
6/11(A) Bh RFRYHLYO — 0. 28 — PA-1000
@O—JHIATF — 0. 22 — PA-1000
©®IZaF — 0.18 — PA-1000
DL ER (1) — 0. 26 — PA-1000
Qb5 0. 20 0. 22 — PA-1000
57900k) £Y RIRYy&EYO — 0. 26 — PA-1000
@O—J AT — 0. 26 — PA-1000
®JZ>aF — 0.19 — PA-1000
Ot ER (£) — 0. 23 — PA-1000
Qb5 0. 18 0. 19 — PA-1000
413(&) Bh RFRY&HLYO — 0. 29 — PA-1000
@O—JY9IAF — 0. 27 — PA-1000
®IZaF — 0. 21 — PA-1000
12/14 (ER9)



E/TREQARICEITAIMATREAEFR

TR - Fal2-2
T R234E
B B - X IR I AR (RATOY —RIVRBE) | e e
5¢m 50cm 100cm
Ot ER (1) — 0. 25 — PA-1000
Qb5 0.15 0.18 — PA-1000
370Kk 2Y ®FRY&LYO — 0. 26 — PA-1000
@O—79zA(TF — 0. 24 — PA-1000
®75>aF — 0. 21 — PA-1000
Ot i ER (1) — 0. 27 0. 24 PA-1000
Qb5 0.18 0. 21 — PA-1000
2/3(%£) Bh @FRY&sLYO — 0. 29 — PA-1000
@O—79z(TF — 0. 26 — PA-1000
®J5>aF — 0. 23 — PA-1000
Ot i ER (1) — 0. 25 0. 24 PA-1000
o Qw5 0.17 0. 21 — PA-1000
1/142(&*2;‘%%,@ @FRYALYNO — 0. 22 — PA-1000
@n—JHIATF — 0. 23 — PA-1000
®75>aF — 0. 23 — PA-1000
Bt ER (L) — 0. 27 0. 24 PA-1000
" 15 — 0.17 — PA-1000
12719(R) A—Ho 00—t — 0. 26 — PA-1000
RIS R AIEE — 0. 31 — PA-1000
13/14 (BR9)



E/TREQARICEITAIMATREAEFR

FrTEHs : BILl2-2
T R234E
AEE X AEA ARMATEL—ZNIER) ] g %
5cm 50cm 100cm
BRI FHI — 0. 28 — PA-1000
11,25(2) Bh EERAR L FHI — 0. 27 — PA-1000
PaERAEIA A — 0. 26 — PA-1000
A—HIE — 0. 26 — PA-1000
HA100K) R b ER (L) — 0. 25 0. 23 PA-1000
ibis 0. 20 — — PA-1000
b ER (L) — 0. 27 0. 25 PA-1000
ibis 0. 21 — — PA-1000
10724(H) £Y Sk — 0. 33 — PA-1000
HE A A — 0. 25 — PA-1000
KR A5 KB — 0. 23 — PA-1000
- oKt — 0. 30 — PA-1000
g/igfﬁﬁﬁm HE A A — 0. 25 — PA-1000
KR A KB — 0. 21 — PA-1000
14/14 (ER9)



